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Checking strategies
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We had 1.225 | o fuel

We have used 739 | Twill check. We must make
already. I colculate we sure we get this right.
have 574 LLeft.

0 o How con the astronaut check her colculation?

b) Show two ways to do the colculation.
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@) A subtraction can be checked by using the inverse operation.
which is oddition,

Twill use the foct fomily to
check by adding the parts.

by estimating.
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The parts do not motch the whole.
The calculation should be done again. Tound an

casier way.
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There are 426 L o fuel left.
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Think together

Q) 1 ross o th fo s t b clvlted ooty
Chec he colaton sngth inverse aperaion

)-0-0

The parts do / do not match the whole.

‘The calculation is / is not correct.

© Wit claotontochck e s,

o b)

199+ 3501 = 5390 9009 - wo = 8569

Complete any corrections that are needed.
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©) Conpiee the portwhole model. and then e the four
it

3 oemen
® O

©) e portuhote modet o bor el 0 show hee
g b ions

w0s[Jes0m  so00-(Jerzso .
2s0-Teisso (J-r50=2000

Now choose a calculation to find each of the missing numbers.

Iwonder if @
port-whole
model or
bor model
shows the
numbers best.

1 think it helps to N
drow a diogram
with parts and
wholes to show
the missing
informtion.






 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 




                                               

